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&sTe Bierey : 3.00 wenfl CHyw ] [ Qurss wHLOUETSET : 100
Time Allowed : 3.00 Hours ] [Maximum Marks : 100

SiPleyenraet : (1) Soadg elamsseyn slurs oFsl UHuTd e drersr cratugemar
Fflurisgs Qardrareyn. wsstiudele GopWmula amps
samararfliurerfi_ib o Lanqwrs Ogfeléseyw.

(2) Beod dagy smUYy @wv¥oa LLECL  aWSUSDHED
D &ECETLHeugHGL LwaTuESs CaudrHb. ULBSE amrausnE
Queéled LiweTLRSS6,LD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

Gy : @eelamssrer BrenE@ LGHsmer Caramg).
Note : This question paper contains four parts.

u@d - 1 /PART -1
GOuY : () Semenss lamssErsEw el wafésew. 14x1=14
() Qsr@asuuLBerer wrHm dloLsafle Wsad gy w e ulmans
CaipQsB558 GHUS_AL oL ulmanbd Ceisg er@sew.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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1. n(AxB)=6 whmw A=(1, 3} erefle, n(B) wy,eungy :

(w01 ()2 (@) 3 () 6
If n(AXB)=6 and A={1, 3}, then n(B) is :
@ 1 (b) 2 © 3 @ 6

2. f:A-B ey @muné sminy OO n(B)=7 erafled, n(A) g :

(1) 7 (<) 49 @) 1 (/) 14
If f:A—B is a bijective function andifn(B)=7, then n(A) is equal to :
(@ 7 () 49 © 1 (d) 14

3. 1apse 10 auenyuyerer (Qra® ereimsrid 2 LUL) Sansg) Tamsemmaid eu@uU@ib

Bl&FAMDW eremr

(<=1) 2025 (<1) 5220 (@) 5025 () 2520

The least number that is divisible by all the numbers from 1 to 10 (both inclusive) is :
(@ 2025 (b) 5220 (c) 5025 (d 2520

4. @O &S 0sTLi euflewasuled 31 2 MULEET o aTeTar. igear 16 -eugl 2 mitiy
m ereifled, DHss sl B Asrir cuflensuded o arar eréveor 2 puLsaflen sm@ge :
(@) 16 m ()62 m () 31m (M 3 m

An A.P. consists of 31 terms. If its 16" term is m, thenthesumofallthebermsofthisAP is:

(@ 16m ®) 62m @ 31m @ % m

5. +64 -g W iTEsLNS WwmHY Sleeueuameupmier TMSE Fal L Ceuamr@ip ?

(=) 4x2 (=) 16x2 (@) 8x? (FF) —8x2
Which of the following should be added to make x*+64 a perfect square ?
(@) 4a2 (b) 16x2 () 82 (d) —8y2
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6. @ Cpflw FLETUTLRET QUTULLD G D GLD.
(=) CpraCar® (<) i (@) uramerund (7)) SFuraumanuid
Graph of a linear equation is a
(@) straight line (b) circle (c) parabola (d) hyperbola

7. AABC -9é DE||BC, AB=3.6 Qs.18, AC=2.4 @s..8 wpgyb AD=2.1 Q&5 erefled,
AE -uQet [Bemid :

(=1) 1.4 Q.8 (<3) 1.8 Q&.18 (@) 1.2 Q.18 (%) 1.05 @&.5
- If in AABC, DE||BC, AB=3.6 cm, AC=2.4 cm and AD=2.1 cm then the length of AE is :

(@ 14cm (b) 18 cm () 12cm (d 1.05cm

8. aLsdear Qaafiuypl yarelWadmpe L sH0E Tssoa QasrHCasTHs6T

auenwemD ?

(2) gom (=) @rein®

(@) pyaupp raraflsms () LRGWD

How many tangents can be drawn to the circle from an exterior point ?
; (@ One () Two

(c) Infinite (d) Zero

l
‘ ' . . - .
i 9. (=5, 0) (0, -5) wHmd (5 0) <pElw LereflsemTed Sjeno&ELLIBLD p&CaremsSlen

Uy |
(1) 0 & SAQ@sH6T (=) 25 &. SOGSET

(®) 5 & SGser (/) 10 & DIQGSEET

The area of triangle formed by the points (=5,0), (0, -5)and (5, 0) is :
(a) 0sq. units ' (b) 25 sq. units

() 5 sq. units (d) 10 sq. units

[ #mLYys / Turn over
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11,

12.

13,
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x=a tand LOHMID y=b sech erafled,
2 2 2 2 2 .2 2y
y_x _ Yy _ LY * Y-
(M2 2! (@7 ™t (@) ZrE=l (M) 77y
If x=a tan® and y=Db sec, then :
2 2 32 2 2 .2 2,2
« ¥ X _ Xyt ¥ i x_ Y -9
(a) b 22 1 (b) 7 b—2—1 (©) ;E-+B—2-=1 (d) 2 b2

4 Q@&.8 o wpepid, 10 Qs.8 g iy I Lapid QameirL e Cieul L 2 (heanden
eueneTurLY :

(1) 40 w sy S@WEsET (=) 20 w 587 DQVGSET
(8) 14 = sgir SwE@s6T () 80 w &8I SVGSET
The curved surface area of a right circular cylinder of height 4 cm and base diameter 10 cm s :
(a) (b)

() (d)

40  sq. units 20 7 sq. units

14 7 sq. units 80 1 sq. units

gwwrer efllLb wHYD 2 Wb mLw @F 2 maer, @ DL LHMID @
Canengdlen san jereysaflan a6 : ‘
(=4)1:2:3 (<25)2%1:3 (@) 1:3:2

The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same diameter
and same height is :

(@)

(F) 3:1:2

15238 (b) 2:1:3 () 1:3:2 d 3:1:2

Gar@ésuuL wilysaiid aoa gm Hapsfuia Hapssaurs Gmés WPgTg) ?

(1) 0 (=)0.5 (@) 1.05 () 1
Which of the following values cannqt be a probability of an event ?
(a O () 05 () 1.05 (d 1
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14. @M Bumse Ceueme fleoLuugpsrer flspgseurang % Ceuma flanL_&&TLOE

. 2 . ;
Bolugpsrar fapsse 3 aafld, x -@er whirag :

(=) 2 ()1 (@) 3 () 15

X

.
3 If the probability of not getting the job is 7,

The probability of getting a job for a person is
then the value of x is :

@@ 2 b) 1 © 3 (d 1.5

u@# - I / PART - II

&Iy : eemauCuend 10 damésense e walsseyb. eleam aar 28 -&@

sLL_nuwns e welléEsew. 10x2=20

Note : Answer any 10 questions. Question No. 28 is compulsory.
15. AxB={((3,2), (3, 4), 5 2), (5 4} crafle, A LHYD B -B& TS

If AxB={(3, 2), (3, 4), (5 2), (5, 4)} then find A and B.
16. f(x)=3x—2, g(x)=2x+k wpmd fog=gof erailed, k -Gem wlemus Sras.

If f(x)=3x—2, g(x)=2x+k and fog=gof, then find the value of k.
17. abxb2=800 erémpeurmy Siewuwibd B® Wlens WpW&ESET ‘a’ HMID ‘b -RE SRS

‘a’ and ‘b’ are two positive integers such that a®xb*=800. Find ‘a’ and 'b'.

4x2y 6xz°

18. X

SOGE 2 X 0t

g , 4x2y 6xz°
Sim P —= X
plfy 222 20yt
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. DI ax.s
Sdrasid Pmings swdum iy ppaiisclian mOsS ppd AUOSSD Sualny,

4R -63=0
Find the sum and product of the roots for following quadratic equation-

48 ~65aQ

80 welgd 18 8 H4Cs Asary Qarant 24 B aLsCs QsBDTe. Qgn 4,
p sl mbg eur PmEsEw Azrawmas srans. -

A man goes 18 m due East and then 24 m due North. Find the distance Of his curyy
ptmhonhomﬂ\eshrﬁngpoim

A(-S’. %), B(a, b) LD C@4, —5) retuen gm Cam_ewps LTENSET LHDD a-+beay
craflé, a WP b -ulen wfleus srans.

1f the points A(-3, 9), B(a, b) and C(4, —5) are collinear and if a+b=1, then find a and b

-1, 2) eren g ) . . =8 . .
( ' ) P yarefl el Qedeugynp, smiey 7 vorwgorer CpraGsriga
FLAUT_OLE STaNS.

Find the equation of a straight line which has slope -TS

and passin, thro p DO
(-1,2). g ugh the point

1 + cosf , .
po— = cusech + colf Uy P Qaseyn.

1 + cosf ,
Prove tha = i
t g. cosach + cotf. 3

-~
)
%
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4. @G femn gwrsCorasden e Ly 1386 &.8 aafld, dAse AwrssU
UpPUUTUeLE STaRTs.

If the base area of a hemispherical solid is 1386 sq. metres, then find its total sgrface area.

25. WD 2 18 wipmib BiglLFiy 250 5.8 QareL @it e(HeaeTulern e SjeTaeud STES.

Find the volume of cylinder whose height is 2 m and base area is 250 sq. .

26. QsTR&SLILLL Freyls Letella@nig eSés Hpib SFasa51p S LDDDE ST
25, 67, 48, 53, 18, 39, 44
Find the range and coefficient of range of the following data :

25, 67, 48, 53, 18, 39, 44

27. @ QpLL e (leap year) 53 safllédlipenioser Hen LILSHSTEN Hapsse, ereman ?

What is the probability that a leap year selected at random will contain 53 Saturdays ?

28. 23 wHmb 12 YAweupdler B.CGur.c. STTs.

Find the HCF of 23 and 12.

u@d - LI / PART - I

ey : eremeuGugyb 10 AarssEpsd oL walssan. dlear aar 42 -5
sL_Lmwuwns aflenL weflésew. 10x5=50

Note : Answer any 10 questions. Question No. 42 is compulsory.

29, A={xeN|1<x<4}, B={xe W |0sx<2} W H M C={xeN|x<3} erafle,
A x (BUC)=(AXB)U(AXC) eramuams sflumr&sa.
Let A={xeN|1<x<4), B={xe W|0=sx<2} and C={xeN|x<3}. Then verify that
A x (BUC) = (AXB)U(A xC).

Oys /T
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30. A={0,1,2 3} wpgud B=(1,3,5,7,9) eremuen @) HemriiHeT 6T Jei-r B iergoud s

31.

32.

33.

34.

f)=2x+1 erené QarGésuul Heteng. @ésrnemens aram®
() bYEEH uLid (i) I cuenewt

(i) euflenss Camgamafien sewrd (iv) euenguLLD
Yfwapens Ghésewb |

Let A={0, 1, 2, 3} and B={1, 3, 5, 7, 9} be two sets. Let f:A—Bbea function given by
f(x)=2x+1. Represent this function

(i) by arrow diagram (i) in a table form

(iii) as a set of ordered pairs (iv) in a graphical form
Fa(hge srams : PB+103+.......... 213

Find the sum of 93 +103+.......... 213

64x* —16x>+17x2 - 2x +1 CTAILFE QUTESAPDLD STERTS.

Find the square root of 64x%—16x3+17x2—2x+1.

3 1 ) o
A= [_1 2] erafled, A2-5A+71,=0 eran Hpieys.

3 1
If A= [_1 2] show that A2—5A +71,=0.

Gaaen Coppges s Hapi9ssayd.

State and prove Thales Theorem.
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(=9, =2), (=8, —4), (2, 2) LD (1, -3) YA yerafsmer poanseTTss ClasmeaT
BrpETSHen LFLeoLE STas,

Find the area of quadrilateral whose vertices are at (=9, —2), (=8, —4), (2, 2) and (1, —3).

A(~4, 2) wpmb B(6, —4) eTamp Letaflsmer @aansGl @WLWE G55ECHT g6
FOMUTLLE SHTETS.

Find the equation of the perpendicular bisector of the line joining the points A(—4, 2) and
B(6r —4)- o

@ studsda samsoy dasssHa @m usshsaigid sLEld LW
Qewdeper. @ sULGSMOGHS sumsomr easasdean e sfllldan gHDS |
Garermiigar wenCw 30° LHYID 45° DG, smsmy alaréssdlen o wrd 200 1]
crafled, @ BLLOLSHEEEE @aLCL e dar Agraamas arans. (3 =1.732)

Two ships are sailing in the sea on either sides of a lighthouse. The angle of elevation of the
top of the lighthouse as observed from the ships are 30° and 45° respectively. If the lighthouse

is 200 m high, find the distance between the two ships. (/3 =1.732)

38. 45 Q&8 e wrerer @i @eLssarsar @m U rhseT weapGu 28 G5
wHpd 7 Qa8 erafle), QenLsH@TLSHlan San DeTMEUE SHTERTE.

If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm, find the
volume of the frustum.

6 Q&5 @y wHPL 15 Gs.5 ewrbd Aarar @@ G L 2 Boar auigaLl
uTSSTD (PRGOS uaflésatp (Ice-cream) 2 GTeng). DAHHL L& Prang), gnibLy
wHmIb SAeTHGETETLD GlenanTHs augeugdled Hruuiu@dpg. saber 2 wird 9 Qg.8
whpb rod 3 Qs 8 erafld, ursHrsde o erer uvafldsmeny Hriu adsmens
galbyser Gyeney ?

A right circular{lcylindrical container of base radius 6 cm and height 15 cm is full of
ice-cream. The ice-cream is to be filled in cones of height 9 cm and base radius 3 cm, having
a hemispherical cap. Find the number of cones needed to empty the container.

i [ H®Uys / Turn over
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40. 24, 26, 33, 37, 29, 31 gAwpHen wrPUTLHE Ampeeusd snans.

Find the coefficient of variation of 24, 26, 33, 37, 29, 31.

L_)&GDL_USId’ Cag “’ﬂ'—“—l

4. Qo vaeLsd gm weap e mlLiu@Bfaper. PSY i S _LUgHETEn

QrieaLu uaL aan soagh s wHuysda sHg 8
Pepssdais srans.

Two dice are rolled once. Find the probability of getting an even number on! the first die or
the total of face sum 8.

Q. 74774777 4 ..., eranp AsmLir auflensulen n e priysaiien &GS ETEE.

Find the sum to n terms of the series 7+ 77 + 777 + ccuvvuene

u@$ - IV / PART - IV
ey : smegs danss@Epssn e weallésayb. 2x8=16
Note : Answer all the questions.

43. (31) PQ=45Qs.8, R =35 wpgd 288 R -WGOSmBg cuerywiiul L pHECsTigen
femb RG=6 Q&.15 eren Byenwujorgy APQR auars.
VG
()6 @515 AL gpérer ulLb u@rpgy wlLsfa mowusddmog 8 Gs.8
Agrevadid P eram yaafiows Ghlésen. siiyamallmis PA WwHOHID
PB cranp @@ QsrGCsn@asr eueypg seuplen Berissanar SaredlDs.

(s) Construct a APOR which the base PQ=4.5 cm, |R = 35° and the median RG from R to
PQis 6 cm.

OR

| (®) Draw a circle of diameter 6 cm. from a point P, which s 8 cm, g
‘f} Draw the two tangents PA and PB to the circle and measure

i
7
u
A
1]
3]
3
2

Away from its centre.
their lengths.
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4. (1) y=222-3x-5 -Wen eueyuLLD uarhgl, Ssemer LTSS 2x2—4x—6=0
e sweTLT e SrEseyLb.
Qe
() xy=24,x,y>0 GTEND QUMTUIL GG cuenfs. cuenFuL sl LwetuBss,
() x=3 el y -5 snams.
(i) y=6crafled x -p& sTwE.
() Draw the graph of y=2x2~3x—5 and hence solve 2x2—4x—6=0.
| | OR
(b) Draw the graph of xy=24, x, y > 0. Using the graph find,
(@) y when x=3 and
(i) x wheny=6.
-00o0-
~
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